[Blytg ‘ Circle Theorems

EES

REVISE THIS
IS Tt

1 A, B, C and D are points on a circle, centre O.

D

1 (@  Write down the size of angle CAB. [1 mark]
Answer L\~ Z degrees

1 (b) Write down the size of angle ACD. [1 mark]
Answer 8 \ degrees

1 (¢c) Write down the size of angle AEB. [1 mark]
Answer S ] degrees

1 (d) Write down the size of angle BEC. [1 mark]

Answer l 21 degrees
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2
2 A, B, and C are points on a circle, centre O.
A
C
B
Work out the size of angle CAB.
Give a reason for your answer. [2 marks]
Answer ‘ | degrees

Reason —W\Q’ an \Q-« n A sernmuvaiele S ‘WD"

Ang\es n Qa 'cn‘oms\e, add Lo \80°

3 A, B, and C are points on a circle, centre O.

29° C

Work out the size of angle COB.
Give a reason for your answer.

Answer S %

Reason ‘W\e cma\e. ak the cemkie s buwice
the OV\S\Q— ok the Jr cumlerence.

[2 marks]

degrees
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4 A, B, C and D are points on a circle, centre O.

3

Work out the size of angle ABC.

Give a reason for your answer. [2 marks]

Answer q L‘— degrees
Reason OK?DS\‘\'Q’ Qﬂ&\es mn o Q (_,\“(/

0

%ua&r§\dde add O 1%0

5 A, B, and C are points on a circle, centre O.
AB is a tangent. A

Work out the size of angle OCB.
Give a reason for your answer.

Answer q O degrees
reason A tangent meets o vadiue ok 90°

[2 marks]
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6 A, B, C and D are points on a circle, centre O.
A

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

P\Y\S\& DOc= 136°
The w\{)\e oX the conkrie is boice the
ovxs\e. ot the droumCeence.
Angle ODC = Ange OCD = A3
Eusg, ang\es in gn icosceles ’W\ung\@ ve %‘“‘L
Angle ADC = dd ¥ IS
= b1
M\&\b ARC= |80~- 67
=13
ORQosi’m cmg\es mn Q c,d(,\ic o\lua&ri\ahml

0

add O |20

Answer \ l 3 degrees
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7 A, B, C and D are points on a circle, centre O.

EF is a tangent. 2 S
0\ c
e

b F

E

Work out the size of angle ABC.

Give reasons for your answer. [4 marks]

Angle DAC = S’

Alternake seq menl tneorem,
Angle ADC = 43° o
Ar\s\cs in o himd\e. addh o 180

Pm&\ﬂ ARC= 180 - 473
= |?>Q'°

Dgyosi’f% QV\S\% n o (d(,\‘tc %ua&rG\ath
add O 130’

Answer | 3—} degrees
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8 A, B, and C are points on a circle, centre O.

Work out the size of angle ACB.
Give reasons for your answer.

P\Y\S\C« APD = 65°

The un&\e oX the conkre is boice the
on kol the droumCuence.

M\S\b ABRC= |180~-65S

[3 marks]

= {19
Oﬁyosi’fb cmg\es n o Lng\ic %ua&ri\mvd
add o 180

- |15

degrees
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9 A, B, C and D are points on a circle, centre O.
BA =BD
AB and DC are parallel.

Work out the size of angle DBC.
Give reasons for your answer. [5 marks]

Angle BaD = Angle TDA =34

Rogse angles in an icoscedes bngngle w2 utsml,
Ar@n ABD =11°

An&\cs n o hiaw\dle, add o 180

Angle BIC = Angle ABD

Altermake dngles are va&ak

hn&\b ABC= 180 - 473

= |1?’°
03?%?& QV\&\QS n Q gn(,\lo %ua&ﬁ\ahm‘.
add O 120

P«rnlc PR :=53°
An&\cs n o hiowxd\e adck o \80

Answer S t degrees
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10 A, B, and C are points on a circle, centre O.
A/\C
0]
D \ €

Work out the size of angle BAC.
Give reasons for your answer. [4 marks]

Qn&\e, CRE =Q0- 24
= Q)go
A “T&V\geuk meeks o radine ok 40°

Ana\e WC = 62°
Aernate sey ment tineorem,

Answer é 3 degrees
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11 C and E are points on a circle, centre O.
AB and AD are tangents.

11 (a) Work out the size of angle COE. [2 marks]

Ane\Q, AgD = A/&\Q, ACO =9Q0°

Atungest meeks o radius ak 40
Angle COE=110" Mngles in & quod lattrel add to

160°
Answer \ l O degrees
11 (b) OC=5cm
Work out the length of CA to 1 decimal place. [2 marks]
Angle CAO = 25° tan@s)= S
CA
C
h 39° - S
SCM cﬁ —e
bom(&S\
CA=2+W03._
0
Answer + \ cm
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12 A and B are points on a circle, centre O.
DC and EC are tangents.

e~ B ‘
[Rwsms not reqwiu& in This 6_\

Work out the size of angle FBC. [4 marks]

Angle A0 = 126° A‘}ﬂv\seuk meeks o radins ok 40°
and ohd\cs \h a muadn’\d‘@.rak addL to 200’
Angle ARD = Angle B a0 =22°
Rose angles inan icoscedes tngngle e equal
Angle APD - 63°
The cmé\e. ak the wmkrie s bwice the
onge ok e reumleence.
Angle AFB = L7 Doqocite angles in a
(,3(,\10 %umr;\mm add o 120
ﬂr\o\t ﬂ@F: '*30 {\Mw,b N Ohﬁﬂi‘a\ﬂ odd t» \goo
Angle FoC- 1S o tangd, 1eeks o radiue a0’

Answer ZS degrees
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13 A, B, and C are points on a circle, centre O.
EF is a tangent.
Angle FAB =5 x Angle CAF.

A
E
E\lmsms not re(\wiud tn this (S_\
WKk ou{;he size of angle AFC. [4 marks]
"9
Acl = qo° The W\S\Q’ in o Sermuciele \s A0°
Q0+ 6=1S

ng\c CAF=\S

Ange gce=9qo0 Angle ACR=12
A‘}ﬂ'\ge\a& meeks o radins ok 40

Angl APC= 148" Angles in o biomgle s 1o 130"
Argle CPF = 32° Angles on o stcaight line odd bo \Q0'

Angle ATC= -5 8° Angles i o triangle odd. to \@0’

Answer S 8 degrees
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14 A, B, and C are points on a circle, centre O.
DE and FG are tangents.

F
EMSMS not reqwm& in This (5_\

14 (a) Work out the size of angle ACB. [2 marks]

Angle AOD = 07 A+“V\96uk meeks o radive ok 40
and W\Q\“ n a c‘/ua&n‘\d’ua& addo to 260’

P\r\g\& ack = SI” Anglt ok the ciccamEerence

holf e ongle ok the ceniry,

Answer S \ degrees

14 (b)  Work out the size of angle ABP. [2 marks]
Phule AROD = Ar\elcllao =99
Rase angles inan isosceec trangle we equal,
1%0\(, ARP-90 -4 & +an5wk meekS
=5l o radivs ok 40’

Answer S \ degrees

(o
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15 A, B, C and D are points on a circle, centre O.
ABCD is a trapezium with AB parallel to DC. D
AB = AC

Work out the size of angle DAC. [5 marks]

ERmsms not reqwiml in This 6_\
B +2 + 3 -8 =180°
O?Pos\"\'e “'U‘es in oL CSCUC— %uadri\okeml.

add to 180"
b -6 = 180 3N+ 2= 95
6> = |86 3(an- 8 = 85

L= 3l°

Angle ACB>fAnge ABL = 25

An@‘t— cAg= \0° P«“\Qs in okn‘oma\e odd tp 180°

N\gl& DCA- Hna\c CAR oHernate W\8\€.S (wre 61"441
Angle DRC= FG° Angles ina trangle add Yo 180°

Answer -q- 5 degrees
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16 B and D are points on a circle, centre O.
AE and AC are tangents.

SX -7

=\
7

Work out the value of X

hha\o 20D = 2(Sx-?)

16 (a)

D
[P‘QQSD\S “DJ(' fQ(‘\M.Q& tn this QQ] [3 marks]
\Oa - I% = 180-x-7F

E

Chr’iu, ung\l- ok Circum ference) Ox =4= FU-x
hngle ROD = 180 - ber 7Y o> 18%
(w\s\u n %ua;ln' \aterod add o 360°) xX= ‘q’
Answer \:l- degrees
16 (b) AD=30cm
Work out the length of OD to 3 significant figures. [3 marks]
BAD> 147 o tan(12)= 0D
o Ad= 1° 30
w oD > 30 tan(11)
30 mm
Answer 3 ) 18 em
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